Column Addition Puzzle

IX=9

=0
Il

IX is the Roman numeral for 9. What one character can you add to this to

change it into an even number? Complete the column addition sums to find

the answer. The two digits underlined in red give a letter. Where the two digits

are not next to each other, the left hand digit is the first digit.

A B C D E F G H I J K L M
19 | 34 | 28 | 76 | 50 | 92 | 87 | 15 | 63 | 40 | 14 | 36 | 29
N 0] P Q R S T U Vv W X Y VA
08 72 05 41 57 61 83 98 01 49 27 66 58
39 2 4 37 1 4 N 8 6 1 N 2 7 4
4 9 1 2 3 4 7 8 1 8 3 6 1 6 8 2
1 3 19 1 3 7 6 N 2 8 09 4 7 1 3
2 8 6 5 3 6 9 2 3 8 2 6 3 7 1 8
4 7 8 4 4 6 3 5 2 5 2 7 6 1 7 3
+ + +
4 7 4 6 1 3 8 2 2 9 5 3 2 5 35
4 8 0 8 N 2 7 9 4 6 0 5 7 N 2 4 8 3
2 3 8 7 4 5 9 2 1 3 89 2 8 3 6




4 5 4 7 51 45 2 4 91 1 165

+ + +
2 5 3 8 34 7 6 3 857 11 4 3
5 7 7 1 6 3 7 2 7 8 9 2 5 21

+ + +
3 45 6 9 3 4 3 9 4 3 35 27
5 4 8 6

+

2 6 5 7




A Column Addition Puzzle AA @W@
IX=9

IX is the Roman numeral for 9. What one character can you add to this to
change it into an even number? Complete the column addition sums to find
the answer. The two digits underlined in red give a letter. Where the two digits
are not next to each other, the left hand digit is the first digit.

A B C D E F G H I J K L M
19 34 28 76 50 92 87 15 63 40 14 36 29

N 0] P Q R S T U Vv W X Y Z

08 72 05 41 57 61 83 98 01 49 27 66 58

2 5 8 2 3895 1089 7 6 3
1342+ 2634*+ 96 1 + 5 2 4 +
49 1 2 1453 8 4 3 6 8 7
16 7 2 301 3255 2 50 3
5415+ 1347+ 2146+ 2451+
354 2 14 2 8 1 4 3 8 3178
5 9 2 4 5 4 5 4
—  + — — 4+ — — 4+ — — 4+
9 2 8 7 30 6 4 4 59 2 826

8 4 3 7 9 3 47 9 9 9 9 7 8 7 4



—78—+ 5—4—+ 1—9+ 2—3—+
395 7 26 9 1 6 6 9 458 2

57 4 6 8 4 3 7 2 4 3 8 6 7 2 1

3 7 4 142 3 2 4 8 2 6 4 9

1536+ 5 65+ 1852+ 1 65 +
3475 15 7 3 12 3 4 2 7 2 4

8 0 86 9 6 4

394 2 2 0 3 3 )35 6 1 76

3 61 + 617+ 2 89 + 521 +
1324 921 15287 6 6 4 1

02 8 5 6 7 g8 2

1 5 3

3486 +

280 4
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